Question Paper Title : FG_21

Date of Exam : 22-06-2019 10:00 AM

Reference ID:(17612) 42 471 1/12 + 70 U1 40% + 0.30 x 180 =

A.85.5
B.87
C.87.5

D.84.75

Answer: A.85.5

Reference 1D:(29635) Pick the Synonym for the word:
demure

A.meek
B.Confident
C.Aggressive

D.Cheeky

Answer: A.meek

Reference 1D:(28138) Find the meaning of the word:: Complacent

A.Concerned
B.Unsure

C.Slack



Answer:

Reference 1D:(29889)

Answer:

Reference 1D:(24408)

Answer:

Reference 1D:(22808)

D.Discontent

C.Slack

Pick the right antonym for the word:
delusion

A.Reality
B.Dream
C.Fancy

D.Vision

A.Reality

WU THRUM TS S Xeq-olRa Srcel Ve el

Ag&iga
B qIArH ™

C.HETR
D.defd

D.gSMHal

SR $ 318 '+ 3T @ 3R '—', TR Weliau! Fald AiaT gufd Hiurar 3img 2

A55$22@75$42@ 12 @ 23 $45$ 27
B.228 $27 @ 25$ 32 @ 221 $ 204 @ 44 @ 37

C.79$42$215$42%$31 @ 203$45% 27



D38@207 @25@ 32 @21$204$244 @7

Answer: C.79$42%$215$42%31 @ 203%$459% 27

Reference 1D:(23446) IR T e AT Weq; 3feswT.
AR
B.ART
cXdt

D.9Tel

Answer: D 9rel

Reference 1D:(20476) X 3 qd fe=ian dis ofg. < 90 i< STaids aesal. T o 70 3 Ioididhs aasdl. {9 al
180 3T g5, AT dl 90 3 Iodibs g5dl. Rde! dl SHatds 25 3R desdl. 3MTdT dl
HIUTT fERIa dig He IUT 38?2

A& gd

B3R Id
C.af&mr uigy
D. 3R ulgH

Answer: D.3tR tff%ﬂ

Reference ID:(32177) WefIUe! HIUT! Tt HERIFHYA dTgd Tg1?



ATTErast

B.WI
C.garadl

D.<d

Answer: D.<d

Reference 1D:(26536) 1964 T RITTT PHaral Bl Stadsnfe USTd=an STfaed TRer Ry srmdta
ald IS Jral 3e.

AT oTd It (IUCN Red list)

B.S&YS&gU® (WWF)
c.gRa wifa
D.faefar®A

Answer: A. ST 1 ATet (IUCN Red list)

Reference 1D:(20957) HIfeibdrd RBTHI ST +RT: A, Z, B, Y, C, _, D, W

AE
B.X
CY

D.U

Answer: B.X

Reference 1D:(23927) Tttt faeeardf e aRIeR Siret 3ieswT.



ATdl x Hraf
B.Udd x 77T

C.Uf3® x 3mufterd

D.Tefl x @I

Answer: C. 5@ x uiert

Reference D:(23673) Wittt UM e SRIsR Siie! 3feswr

A.3Fd- 3t
B.dd - 2fiad

C.PRE - 3Adrdl

D.3MYR - FRIUR

Answer: A.3Td- 3R

Reference 1D:(33436) ST AN BT 31N STl Su-Is S 3Rig! Bed Sa?

A SR

B.IargRT
C.IRMTST

D. SR

Answer: A TR

Reference 1D:(18955) RIS ST T 3R T AT Hics el

AUl YdPhTe



B. 91 Ui HhTes
C.qul Hfou®®
DICINRIGEDLS

Answer: C.q:Uf HidsgehTos

Reference 1D:(22554) Wit Fatd HidT ggig HIorr 318 ?

A22+55-12+45+15-203 +42 + 57
B.28 + 27 -52 +35-51+ 204 -44 - 37
C.29+25-212+45+31+203 +42 + 27

D.38 + 207 - 52 - 35 - 51 + 204 - 44 - 37

Answer: D.38 + 207 -52-35-51+204 -44 - 37

Reference 1D:(18474) $Had dIN ... g1 3a! e S

Answer: DX

Reference 1D:(30878) Identify the figure of speech in the following sentence: I'll die if | can’t buy that car.

A.Simile

B.Euphemism



C.Personification

D.Hyperbole
Answer: D.Hyperbole
Reference 1D:(27630) Pick the correct meaning of the highlighted idiom or phrase from the following:

“They really cut corners when they built this house,
the roof is always leaking.”

A.To do something in a cheap or bad way
B.To always take very accurate measurements
C.To ask for a high price on something which actually costs lesser

D.To cheat someone

Answer: A.To do something in a cheap or bad way

Reference 1D:(16550) SR @ 38 "HFTIHR' 30T § 3R TUMHR, R WIeid Ygiaide! g1 i Jaid
ST BT 3MTR?

A41@5
B.4.25$2.5
C.33@4

D.3.75%2.5

Answer: D.3.75%2.5

Reference ID:(17131) T Tafaiie! g1 sHHidGE Fald de HIu 3g?

A.350 9 70%



Answer:

Reference 1D:(29127)

Answer:

Reference 1D:(18247)

Answer:

Reference ID:(19717)

B.1300 dT 1/4

C.0.35 x 900

D.700 dT 2/5

D.700 dT 2/5

Pick the right meaning of the highlighted word in the sentence:
Reena tried to thwart Mona’s attempt of winning the beauty pageant

A.To stop something from happening
B.To hate something a lot
C.To be happy for something to happen

D.To help in making something happen

A.To stop something from happening

ERISIRIG DGR KSR
rafadl gt g
R iSIdTe g HIord 2

A.3fiat

B.3HTT

C.UlGIpadh
DCRGIRNED

B. 3T

qaId 0T g1 uaTe! I gty fHasr.

3f1al [ fae s,



AT

B.HHHENH
C.fREmeYA

Answer: B.pIHHN]A

Reference 1D:(19998) TR 7 Yeg Al FHHT Weq i,

ATEI3NG

C.BXg}

DA

Answer: N HEH

Reference ID:(33432) WIC 30 sfear W 3y sfsar Mifgw B3 3 B R D R

A fRrgror

B.¥®

C ARl F=IekilehRUT
D.Jelsfehdl

Answer: DRCEICERI



Reference 1D:(16523)

Answer:

Reference 1D:(26534)

Answer:

Reference 1D:(27884)

ISP, Q, R, S, X 30 Z § GF IMMHE ThUDBIPhs die Ho- a9 3ad. alal
T ! T ST0T 3fTed. X 9T [ASIRT Sqaal P g1 S T HUNTNE 3. S 81 Z &
Sldlchs U=l hHIbIaR 3MT8. X 8 HIUATe! AT Adc! Sqadl Alel. R 8 Z =
RIIRT 315, P AT AR DI0T S8 3152

AX

B.Q

C.S

D.Z

D.Z

TEUIS! UgfaR i, FrHTfSTe {101 Ureftur fas g Hed Hrudaredt I’ o
YHIaRd STl HTfOT I-iehRuT gid STaITa 3107 TR,

ATSI® gfaq=
B.& Y gAfas=

C.9Ycr qfdIH

PR EIEEAGICRIE

PR EIEEAGICRIE

Pick the correct meaning of the highlighted idiom or phrase from the following:
Krishnan sounded like a broken record when he told everyone
about his holiday

A.Repeating the same thing over and over
B.Putting everyone else down
C.Acting superior to everyone else

D.A boring person



Answer:

Reference 1D:(24154)

Answer:

Reference 1D:(26530)

Answer:

Reference 1D:(24916)

A.Repeating the same thing over and over

TTeiterde! fav el Trsar ge ) Sl e,

ATTeR x fFReR
B. P x Wb
C.gHdT x faudar

D . diel x Iudr

D . diel x Iudr

TehTHE ffoe MR o5 et Bl

A.31T] / TRATY] gefeT
B. AT
C.Y&y
D.<TgYs

A.3{T] / TRHATY] e

Jeid Mea N3] Iy Tsg fHdsT.
AR HaTal SNUGUaraTat MiAera oy

INCECERIIG]
B3R
C.arerid
D.Hraid



Answer:

Reference 1D:(26533)

Answer:

Reference 1D:(33431)

Answer:

Reference 1D:(19490)

B. 3=

B QIBR TR 30T a7 HATITTth k! d AT et SIrdl sai-! g
g Tdtes ST fasm e 83mHe 3RTIT &1 & 3G,

AT fagH REPR

B 3fexT flra i gar fir
C.afaRuT AR

D 3T et TafaRo RHR

B.3fax1 el ger i

“TTell TaORY” 18U Sfiasdd! STUMRY Hfga iur SHTR?

AT & 3w
B.&.TH. S
C T 3f§eH

DS Arg Ridar

AT & 3w

TYTd oot aTRARTE 917 aT0R SRTcId a1 Ui 3fieswl. 3faR1ay qikeE

AR 3RS Jaid TR Yol 3R Y aufay amive 3g.
B.SETdT YUTeT AIRAA STeiH1 3oy GTR= arafde.

C.CUTE Heald Wesd W 3ed e uX} 33R1fay aIa gid.
D.SUJUIR HIufig! THedgos HIYARIdIdl Hedld HSRAAY Gl gid.




Answer: D.HHIUIR HIvfig) T HIaRTaT HedTd 3HBa% e g,

Reference 1D:(34948) R 28 (351) 13;
18 (391) 23;
dR 17 (?) 29.
" ] T =Ml
A.464
B.432
C.412

D.478

Answer: A.464

Reference ID:(32174) 943 wTett el T Tieht AT sk Wiciateh! PVl REBRM THIHT BHal?

AHIR

B.39ed
C.BIds BT

D.HIq

Answer: AHGY

Reference 1D:(19971) qerd faumTaT off Te0 9 d ST Uarg i
Thd- TEUTS el ATa! IGUH STa-T T RI&T dehl. A gu=a1 fea=h Rd I TUTe
T ATg!. e e B SUART Tl TGl & Ul ... 3.

A T gRTRIGR GTof)

B.UHTd S HRId HAT

C. T 165 T Yl HR



D. =4t fae TRsdl hesait

Answer: A.OTAAT U RIGR grof}

Reference 1D:(28873) Convert the following simple sentence to compound sentences: Being guilty she
went into hiding

A.Since she was guilty, she went into hiding
B.Being guilty she was hiding
C.She was guilty and went into hiding

D.She went into hiding because she was guilty

Answer: C.She was guilty and went into hiding
Reference 1D:(21211) HTfaddid R ST HRT: 65, , 17, 11, 17
A1
B.35
C.65
D.17
Answer: B.35
Reference 1D:(29354) Pick the right meaning of the highlighted word in the sentence:

The island was in an obscure corner of the world.

A.Relatively unknown or concealed
B.Bright and intelligent

C.Someone who is direct with someone



D.Explicitly mentioned or done

Answer: A.Relatively unknown or concealed

Reference 1D:(28111) Find the meaning of the highlighted word in the sentence: They tried to banish him
from politics.

A.Accept
B.Admit
C.Evict

D.Include

Answer: C.Evict

Reference 1D:(20730) WRIS=910,NICE=5935YOU=763, AXKNOW=__7

A. 115155
B.25614
C.2565

D.1151514

Answer: C.2565

Reference ID:(32172) fRraTSll ARSI SN HIOTT ATl ST BidT?

A.1674
B.1670

C.1664



Answer:

Reference 1D:(31105)

Answer:

Reference ID:(21719)

Answer:

Reference 1D:(20984)

D.1660

A.1674

Fill in the blanks with the right set of words:
Jim Corbett animals but he many man eaters

A.Loved, killed
B.Loves, killed
C.Loving, is killing

D.Is loving, is killing

A.Loved, killed

WRA=1,B=2,C=3,...Z=26, &R QA UPp! HIUd T SRI&R 3S?

A{S+A+N+G}={G+I+R+L)}
B{S+A+N+G}<{G+|+R+L}
C{S+A+N+G}>{G+I+R+L}

D{G+I+R+L}={C+L+0O+S+E}

B{S+A+N+G}<{G+|+R+L}

ATfeTbad RBTHI ST E_ CBA

AF
B.D

C.G



D.H

Answer: B.D

Reference 1D:(33430) TR TI-ATCh HRATIIS HIUTT AT BT 318 7?

A FERIY
B.I[ORId
C.ufgy &rd

D.XISRYTH

Answer: A.II_G’ITIQ

Reference ID:(25170) qgaRIP eq 3. e e

AT

B.Js!
ORI

D.TTgt

Answer: A.Tl'if

Reference 1D:(24181) WTeaUeh! BN T8 Y We3-aRa- SRciel Ueg 3Nesl.

A.3TTHRITI
B.3ATH T
C.3MTh YUl
D. 3MTh 0]



Answer: C.WGfUT

Reference 1D:(24943) Jeid Yecadgd! Iy Teg fAas.
31 U 3G pereit e MY

ATHRY
B.ORERIdds!
c.ImM™

D.IHHd

Answer: D.IHHd

Reference 1D:(28365) Find the word opposite in meaning to the highlighted word: Ecstasy

A.Misery
B.Happiness
C.Elation

D.Euphoria

Answer: A.Misery

Reference 1D:(26531) STAUYSHT (ENSO) 8T He&T TATST ATORAAT ST,

A.37Q A=Y &1 H1-HeH SiTRaRH
B.3PIANSIHd AlaH T SRR
C.UgTRHe A1 e sifideH
D.aIaU®! HIerd gl




Answer: A3 1Y @1 Hr-ued siftde™

Reference 1D:(23700) '3eR T e T Il Weg sfiew.

A 3ifRrferd

B.&R

CAdR

D.RMYd

Answer: B.&R

Reference 1D:(28392) Find the closest meaning of highlighted word: Gale

A.Lower
B.Unwind
C.Cyclone

D.Uncoil

Answer: C.Cyclone

Reference 1D:(32169) AHIUT HERTRIT TR fobddt ST I MTgd?

A.20 9ol
B.21 ¥y

C.22 ey



D.23 4oy

Answer: A.20 9o

Reference 1D:(33428) Ut B0 &g R USRI ATRI?

INCEUS
B.gHUI 3(1fYr <t
C.Tmar

Answer: C.Tar

Reference ID:(24689) TTdId aTaaTd RepTH! SR YU 9aid I eg fHasT.
3fies e STelt o)t TR ot ... HE 14,

A TS
B.7TSIRTON
C &
D.3{dg el

Answer: D.3dg T

Reference 1D:(18728) WAt 9 Siia! e,

A.31TS Tig TI7of} T 3R — e HidwhTes
B. 37Toll JUaTd I8 — ITYT qaHTehTe
c. 4 e yr 929 - syl adaFwTE



Answer:

Reference 1D:(26537)

Answer:

Reference 1D:(21238)

Answer:

Reference ID:(27857)

D Afgd ANTYRET Tl giel — 3qul Yid=dhia

B.3{Tsi JUaTd 18d — HIT IcHTDIS

1970 T GHARN WIZclc ol Yl Taiarv foew s 81 HIdT dTg Tal. g1 14
eRUT STYUYTA FIYBTHIGR Bidl S I SWIbhfeddta a1 ug = diaal

TR UfAEH e THTT el ST,

A.FlcH

B.HERTY
C.ID

D 1T U=

C.ID

SR CINNAMON BT ¥sc ICNNMANO 38 3Tf0T SAVAGE BT Ueg ASAVEG 38d, TR
FUZZBALL BT ¥sg 3.

A.ZZBALLFU
B.UFZZLLBA
C.UFZZABLL

D.BAUFZZLL

C.UFZZABLL

Pick the correct meaning of the highlighted idiom or phrase from the following:
After the death of his father, he made away with the
entire savings.

A.To run away with



B.To cheat someone
C.To donate to charity

D.To double

Answer: A.To run away with

Reference ID:(33434) HRAd SSReTd elfaudIarst (g U (Industrial Toxicology Research Institute)
DIS g2

JAMNEEL Y

ER:CH

C.9TaR

D.gU!

Answer: A3

Reference 1D:(22582) Wit Fatd de Tafg HIvET 318 2

Ab52-55-32+75+205-83+42+57
B.48-27-52+35-251+204 +44 +72
C.29 +25-22 + 45+ 31-203 +42 + 207

D.44 +17-52-35-51+204-44-23

Answer: D.44 +17 -52-35-51+204-44 -23



Reference 1D:(34921) olR CAB x 3 =603;
DBC x 4 = 1248;
QXK x1="7?

A.1024
B.1089
C.1412

D.1142

Answer: B.1089

Reference 1D:(20222) X ° IR fGRIar dis 31g.dl 45 3% STaldhs aesdl. Jdl 75 3R Ioldidbs dosdl. J
dl 180 3 Te5dl. W Al 15 3T Iodiw S gaddl. ”ac! dl Slalbs 45 3/ IBdl. 3Tl
dl ST SR TS B SHT 3Mg?

A&

B.3™
c.ufam

D.gd

Answer: A Gl

Reference ID:(26538) YEIat®! S0 SAARIPR FaeFIgR sfiw@d Tad Srfae safafasds Tag-em &=
gr?

A HTCTTRGR
B.Uf%H dre
AL CICIRE

D.d8-d8d

Answer: D.@I‘&'—W



Reference ID:(32170) HRAR GIEIT HTHETS H3t TIeaud! ST 3mea? (1 T 2019 Jsf)

ARz Rig A
B e SdrRm=
C.guHT TR

D. ¥yt RToft

Answer: ATE ﬁlTs' R

Reference 1D:(33433) IS diges FIMY YRAT (ICAR - National Rice Research Institute) HEATI HRdTdId
HIUTT I 38?2

INCANEAR]

B.dhch

C. YR

Answer: B.dcdh

Reference 1D:(24435) WU ATHRUMTAT P &g aradral uaig Hast,

A TR YR SORIER &RUINT Tahrar.

B SfagrId RIaTeHgRISI6oR UST 3178,

C.fa e T FHdaar A o1lR.



D. DRI T YT B1a.

Answer: c.foma® Udh ﬁaﬁﬂ:{ @W 3:1’@»r

Reference 1D:(35175) TTeft fedear Tt 3 U GHIA 3MTed ST 1 fe 3118, SHIurdT uxi fie o 3ieswan?

A.K8-431, Kalinga Nagar
Ghatikia

Bhubaneshwar

PH 8763030795

B.K8-431, Kailnga Nagar
Ghatikia

Bhubaneshwar

PH 8763030795

C.K8-431, Kalinga Nagar
Ghatikia

Bhubaneshwar

PH 8763030795

D.K8-431, Kalinga Nagar
Ghatikia

Bhubaneshwar

PH 8763030795

Answer: B.K8-431, Kailnga Nagar
Ghatikia
Bhubaneshwar
PH 8763030795

Reference 1D:(27022) For the given active voice sentence, select the correct imperative sentence from the
options: Please lend me your book.

A.You are requested to lend me your book
B.Can you please lend me your book?
C.Can the book be leant to me?

D.Can | ask for the book to be given to me?



Answer:

Reference 1D:(33429)

Answer:

Reference 1D:(32171)

Answer:

Reference ID:(17866)

Answer:

A.You are requested to lend me your book

HERIPNIE YEIAus! HIVId TER HeH Mg I WU Sfia@d i ?

A 3BHCTR
B.IUMG3T

C. AR
D¢

A.SgHGITR

HERTY T RITAT HIUTT HTeit STt

A.1962
B.1960
C.1958

D.1949

B.1960

4571 1/18 + 12 =41 20% =1 200% + 0.30 x 120 =

A43.3
B.44.8
C.45.3

D.42.55

A43.3



Reference 1D:(30143) Find the meaning of the highlighted word in the sentence: Celebrations are planned
for the latter part of November.

A.Starting
B.Earlier
C.Later

D.First

Answer: C.Later

Reference 1D:(17104) 5/20 +4.75-10/25 =7

A.5.95

B.5.75

C4.6

D.6.25

Answer: C4.6

Reference 1D:(30116) Find the meaning of the highlighted word in the sentence: The army
was invincible in battle.

A.Beatable
B.Vulnerable

C.Unconquerable



D.Breakable

Answer: C.Unconquerable

Reference 1D:(28619) Pick the right idiom which fits into the sentence: Beware of Preeti, she is a

A.A person in parts
B.A wet blanket
C.Milk of human kindness

D.Snake in the grass

Answer: D.Snake in the grass

Reference 1D:(26532) HeRIedidd Yo gad 38 Teaud! BRI oo dlead
A) (‘A NV [of
B) ®Ted HHIGIS S

C) FTIRITART BTa

APHdD B

B.A 30T B

C.B 3T C

D.A, B 301 C

Answer: B.A 30T B



Reference 1D:(29381) Pick the right meaning of the highlighted word in the sentence:
She is a demure and sweet girl.

A.Meek and shy person
B.A confident person
C.An aggressive person

D.A person who shows no respect to anyone

Answer: A.Meek and shy person

Reference 1D:(33427) gaiai! HIvid gxde RNt Ude gt farfea el

ATTd

BIMsS
C.HAFRIR

D.TeH

Answer: B.‘IIéS

Reference 1D:(18982) TTATd YecTal AN / JHNY TDHR 3.

SEREIE

A.dof® g5

B. Y
C.HHYRY

D.feL

Answer: A JH RS gg



Reference 1D:(19744) "ITTd ST TAT, ARl MATARTEST" a1 Teui 31 WIciieties! HIvrar o iiesar?

A. QI T B AHARTeST L.

B.Ihc 3{Tel, TR 3MTUU §JETTE ol B,
C. IR AT HRUIT T 3.

D.3AGSYU TERIRE dci- o,

Answer: A. G TH UM B AHRIST (G0,

Reference 1D:(30624) Identify the word that’s opposite in meaning to the word: Deplete

A.Replenish
B.Undermine
C.Diminish

D.Unable

Answer: A.Replenish

Reference 1D:(32176) YR Ufgell UL oll Tobed HERIPTT Tleiid Ul HIS 3Hg?

A SR

B.ARTR
C.aIHI®

D. @R S]

Answer: B.dIRTYR



Reference 1D:(31132)

Answer:

Reference 1D:(19463)
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AERISEIATe AT aore cofaeen Segr @reenddr Fomar 37

A TRYTf
B.SWHMEIE
C. AR

DARS

C.AR

WIeitetep! areR 30T e Ul g Siet e,

A BTIUTI 30 - 4R Irsor

B.IIC! Us ATEdUl - HIRiTd BTH = Bl HFTG! WRIshY TSlfdul

C. T[0T B8l - FHH HRUI



D. 35S TS - YR TS0

Answer: C.ﬂEEUﬂ BIgUl - Wfl HR0Y

Reference 1D:(30397) Pick the correct meaning of the highlighted idiom: He was easily deceived by her
crocodile tears.

A.Be angry like a crocodile
B.Tears like the ones shed by crocodiles
C.Pretended grief

D.An amusing story

Answer: C.Pretended grief
Reference 1D:(18701) M U forg=T et A1 areiTdiied TR HhIurar?
A AT HHUTY TR
B. U S gamT
C.7 T8 HHU YgIT
D .1 HHUT TR
Answer: A FHTOE SHHOT TaRT
Reference ID:(24662) gTdTe arerd ReeTH ST HRUgrg 9afd 9 Ueg, Adsl.

YR Yo YUl SRS 31T ... IV P 3R,



Answer: A ST

Reference 1D:(17893) X 1Y B 66.66% I HIST 3MT8. AT Y 8T X § % T8 3T8.

A.50
B.25
C.33.33

D.40

Answer: D.40

Reference 1D:(20703) WRGO=4,FLY=9,BUG=9, qRJACK=_7

A.16
B.24
C.20

D.12

Answer: A.16

Reference ID:(32175) HERIYTd HERITeAT YS! e " fg Jarurdl He1 Wieileten! HIuft SHRT ?

INEEICIRIIE]



B.Sl. [N HiesSH
C 9147 3
D. 3{UUTT §OIY

Answer: C.§14T 3THS

Reference 1D:(29608) Pick the right meaning of the highlighted word in the sentence:
His manners proclaim him a scholar.

A.To announce something publicly
B.To be secretive about something
C.To be humble about something

D.To speak the untruth

Answer: A.To announce something publicly

Reference 1D:(29862) Pick the Synonym for the word:
Mediocre

A.Average
B.Deficient
C.Medicinal

D.Proud

Answer: A.Average

Reference 1D:(21492) WA=1,B=2,..M=13;3MVIN=13,0=12, .... Z = 1, R Wid Ueb! BT
Ugig sRIeR 3MTg?



A{D+O+C+K}<{L+I1+K+E}
B{D+O+C+K}={L+I+K+E}
C{D+O+C+K}>{L+I+K+E}

D{D+0+C+Ki={S+A+N+G}

Answer: A{D+O+C+K}<{L+I|+K+E}

Reference 1D:(26535) Hel-fafaear (Megadiversity) TS HeH fafaerdr uafRid &Ror. a1 LS RTINS
(Conservation International) Wﬁ DHIUTAT G 18 Hel-fafaear i Udh U
Sl STel?

A Hferar
B.cifan
C.ARIaD!

D.U=

Answer: DIU®

Reference 1D:(19209) JTATd YeaTal AN / JHNY ThR 3.

A THER G§

B.HHYRY

C.ggagdilfe
D.HemHUG Ayl

Answer: AJURER gg



Reference ID:(16877) 15/25 +2.5-10/25 =7

A2.7

B.2.35

C.0.625

D.0.975

Answer: A27

Reference 1D:(30370) Find the meaning of the highlighted word in the sentence: Those black clouds look a
bit ominous.

A.Favorable
B.Bright
C.Menacing

D.Hopeful

Answer: C.Menacing

Reference ID:(17385) 415+ 5.5+ 3.25- (5.50 + 3.25 - 4.35) =

A.8.75

B.8.65



Answer:

Reference 1D:(22836)

Answer:

Reference 1D:(27049)

Answer:

Reference ID:(17639)

C.9.25

D.8.5

D.8.5

SR $ 3R '+ 3T @ 38 '—', TR Weiailep! Jald el Uaid HIvrdr 318 ?

A225@ 12 @ 35$ 74 $202@ 93 $45$ 37
B.48$27$25$32@ 221 @ 204 $ 34 $ 74
C29@22 @45%$42%$31@203$45% 207

D244 @17 @25$32@21$204 @ 44 @ 23

B.48$27$25$32@ 221 @ 204 $ 34 $ 74

Find the meaning of the highlighted word in the sentence: The US has largely lost
its credibility to mediate the peace process, especially in the eyes of the
Palestinians.

A.Decide
B.Arbitrate
C.Manage

D.Eliminate

B.Arbitrate

36 =T 1/8 + 40 =T 15% &1 200% + 0.25 x 150 =



A.55.5
B.56
C.54

D.53.25

Answer: C.54

Reference |1D:(27376) Identify the figure of speech in the following sentence: Laughter is the music of the
soul.

A.Metaphor
B.Personification

C.Apostrophe

D.Hyperbole

Answer: A.Metaphor

Reference 1D:(18220) I — Fic} YAHTR D g g ST |
N MBI ... STHR IRl T 3Tg ?

A. SR
B.ofR®

C. Il

D . TaHTalfeRkT

Answer: C.3def



Reference 1D:(21465) SR FARKLEBERRY & ¥sg IDUNOHEHUUB 3/8d, a8 POMEGRANATE BT Ueg
3.

A.SRPHJUDQDWH
B.SRPHITDQDWH
C.SROGITDQSWH

D.SROGITDQRVG

Answer: A.SRPHJUDQDWH

Reference 1D:(28900) Fill in the blank with simple past or past perfect tense of the
verbs: We ____ all our money so we had to walk back home.
A.Had spent

B.Have spent
C.Were spending

D.Will be spending

Answer: A.Had spent

Reference ID:(25424) ST 1 egTaT Wiciaua! arg Jeft favrg sies.
AY + 3Iford
B.Y + 3aiid
c.y + fofa

D.Y + Sfoid



Answer: D.Y+ SHford

Reference 1D:(27603) Identify the figure of speech in the following sentence: Don’t fail me now dear eyes!

A.Oxymoron

B.Euphemism

C.Apostrophe
D.Hyperbole
Answer: C.Apostrophe
Reference 1D:(28646) Pick the right idiom which fits into the sentence: Spellings is his

A.Shot in the arm
B.Achille’s heel
C.Chip of the same block

D.Daggers drawn

Answer: B.Achille’s heel

Reference ID:(17358) 430+525+275-(2.30+5.25-9.75)=__
A.15.85
B.14.5

C.13.35



D.16.25

Answer: B.14.5

Reference 1D:(32173) TS " O QAP ORa- WU oIl b 2

INCICIRC et
B.XdIGHTY TR
OACEICIRY Gl
D JT4R TR

Answer: Cﬁﬁﬁﬂ i)

Reference D:(26539) HERIPNE U< ST TS SHHIRTY WA TAUDT HIUIAT FoTeaiTd 318 2

A ATRID
B. AR

CITs

D.Riyg
Answer: B.@T’ITQS

Reference 1D:(33435) URATAT AU TUH I Siesdd STd?

A&
B. I -1
C .



D.fawre

Answer: A JHa W

Reference 1D:(25197) "TATHT" IT e WIeade! g el faug e,
A AT + TR0
B. il + I
C.Td + B

D . + 3BT

Answer: D . + 3BT

Reference 1D:(19236) Ul fIaol" T ITRRTET Wieldtd! wivrar 31 arg 3mg?

NGRS
B.ARQR AR <01
C.3farSl °oy

D. HESUU ThUl

Answer: B.HRUR HR Ul



Reference 1D:(20249) Teh HIUH 1T ORI UigH &= 10.5 fob it et
T dl SIdibe gaad! 311 5 o 1. arerdl.
T dl Iolaihs gaddl 3T 1 o5, 1. arerdl.
I dl Soldidbe gaddl ST 7 T 1. areal.
W @ Ioidihs daad! 30T 4 T A, TTerdl.
T dl Iodihs gaddl 3T 3 fop. =Y. arerdl.
T dl SIAibs god! 31101 4 o 1. arardl.
T dl S1dids doadl 30T 1 T At ITerdl.

A AT TRIIH et o 3R?

A.2.5 fob A,
B.3.5 f .
C.1.5 fo H.
D.3 f& 4.

Answer: B.3.5 f& |t

Reference 1D:(30851) Convert the following active to passive voice: They are building a new stadium near
the station

A.A new stadium is being built near the station
B.A new stadium will be built near the station
C.A new station is to being built near the station

D.Near the station a new stadium is to be built

Answer: A.A new stadium is being built near the station



